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A.R.B. Garud, Art’s, Commerce and Science College, Shendurni.
Tal- Jammer, Dist- Jalgaon. Pin- 424204
Test for computer science

e —— p——— ==
—_—— =

Seleet an appropriate option for each of the following.

1. WWW stands for?
a. World Whole Web
b. Wide World Web
¢. Web World Wide
d. World Wide Web .

2. Which among following first generation of computers had?
a. Vacuum Tubes and Magnetic Drum
b. Integrated Circuits
¢. Magnetic Tape and Transistors

3 d. All of above

If a computer provides database services to other, then it will be known as?
a. Web server
b. Application server
¢. Database server
d. FTP server
4. Full form of URL is?
a. Uniform Resource Locator
b. Uniform Resource Link
¢. Uniform Registered Link
d. Unified Resource Link
5. Which is not a font style?

a. Bold
b. Superscript
c. ltalic
d. Regular
6. Which among following is not an input device?
a. Mouse
b. Scanner
c. Keyboard
d. Printer

7. Binary number system consists of?
a. 0'sand 1's only
b. All alphanumeric characters
¢. Depends computer to computer
d. None of above

8. What is full form of ROM?
a. Réad other memcache
b. Read only memory
c. Read other memory
d. Read only memcache

9. Whatis full form of USB?

a. Unicoded Smart Bus
b. Universal Smart Bus
c. Unicoded Serial Bus
d. Universal Serial Bus
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at is extension of Microsoft Word Document?
a.  .dee

b. .doc

¢. xls

d. ppt
1. Which

among following, is not my)'apul device?
4. Mouse

b.  Scanner
¢.  Keyboard
d. Printer
- Which among following is not a logical gate?
a NOR '
b. XOR
¢. AND
d. NAT
A computer must have?
2. Microsoft office
b. Operating System
¢. Internet connectivity
d. An antivirus

Which among following is not a browser?
a. Opera

b. Chrome
¢. Firefox
d. Casio

15. LAN stands for?
a. Local Area Network
b. Land Area Network
c. Least Area Network
d. Leave All Network

Which of following alphabet cannot be part of a hexadecimal digit?
a. A

b. L
c. F
d. E
17. Random Access Memory (RAM) is non-volatile in nature.
a. TRUE
b. FALSE _
18. When a file is saved for the first L LRI
A copy is automatically printed
File name and folder name must be the same
It does need a name o
It must be given a name to ldefltlfy it. _
L I —— ‘is a collection of information saved as unit.

13.

14,

16.

ao o

Path
. None of these ofa
i [ mple of @u.cveeeiees
icrosoft office 1s an exa
ik Closed source software
Open source software
ngizontal market software

Compiler

oo o
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AR.B. Garud., Art’s, Commerce and Science College, Shendurni.
Tal- Jammer, Dist- Jalgaon. Pin- 424204
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ANSWER KEY N
—_— [Test For computer Science]
wn Answer \ Question \ Answer J
e d \ 11 | c B
= a | 1 | 4 |
e c | s | b |
L a \ 14 \ d ]
> b \ 15 \ a |
- d \ 16 | b )
7 S S A N
8 b \ 18 \ d |
9 d \ 19 \ b |
10 b \ 20 \ c |
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ANSWER KEY
| Test For computer ]

Question Answer Question Answer
1 d 11 c
2 a 12 d
3 c 13 b
4 a 14 d
S b 15 a
6 d 16 b
7 a 17 b
8 b 18 d
9 d 19 b

10 b 20 c

AN et .:!
it oo ‘"\".;%4';\‘0
() -"“ N [
- »..j ¢ ‘! "‘
L PAPER SETTER
ABEL 1) MR, N. P, BARI
a. | LTV Ull{] Ihivilivuviae b-l-“-—_‘_‘“‘

(4] What ie full frne ~£TICDN



A.R.B. Garud, Art’s, Commerce and Science College, Shendurni.
Tal- Jammer, Dist- Jalgaon. Pin- 424204
Test for computer science

1 WWW stands for?
a. World Whole Web
L. Wide World Web
c. Web World Wide T
d. World Wide Web A

' -.\\

-

rJ

Which among following first generation of computers’
a.  Vacuum Tubes and Magnetic Drum
b. Integrated Circuits
¢. Magnetic Tape and Transistors
d. Allof above
3. If a computer provides database services to other, then it will be known as?
a. Web server
b. Application server
¢. Database server
d. FTP server
4. Full form of URL is?
a. Uniform Resource Locator
b. Uniform Resource Link
¢. Uniform Registered Link
d. Unified Resource Link
5. Which is not a font style?

a. Bold
b. Superscript
c. ltalic
d. Regular
6. Which among following is not an input device?
a. Mouse
b. Scanner
c. Keyboard
d. Printer

7. Binary number system consists of?
a. 0'sand 1'sonly
b. All alphanumeric characters
¢. Depends computer to computer
d. None of above
8. What is full form of ROM?
a. Réad other memcache
b. Read only memory
¢. Read other memory
d. Read only memcache
9. What is full form of USB?
a. Unicoded Smart Bus
b. Universal Smart Bus
¢. Unicoded Serial Bus
d. Universal Serial Bus

. i, T
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- What is extension of Microsoft Word Document?

0. dec
b, .doc
¢, xls
d. ppt

Which among following is not mvjx}ml device?
a. Mouse

g
b, Scanner
¢ Keyboard
d. Printer
- Which among following is not a logical pate?
a. NOR '
b. XOR
¢. AND
d. NAT

. A computer must have?
a. Microsoft office
b. Operating System
¢. Intermet connectivity
d. Anantivirus
. Which among following is not a browser?
a. Opera
b. Chrome
¢. Firefox
d. Casio
. LAN stands for?
a. Local Area Network
b. Land Area Network
c. Least Area Network
d. Leave All Network
Which of following alphabet cannot be part of a hexadecimal digit?
a A
b. L
c. F
d. E
17. Random Access Memory (RAM) is non-volatile in nature.
a. TRUE
b. FALSE
18. When a file is saved for the first time............
a. A copy is automatically printed
b. File name and folder name must be the same
¢. Itdoes need a name
d. It must be given a name to identify it.

16.

[ —— is a collection of information saved as unit.
a. Folder
b. File
c. Path
d. None of these
20. Microsoft office is an example of a..........oee

a. Closed source software
b. Open source software

¢. Horizontal market software y)/
d. Compiler
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Test for computer science
Seleeq gy WDropriage Option fop cach of the following,
| Wivy sands foro
A Worlgd Whole Wely
b, de World Wely

d. Worlg Wide W :
2. Whiah among !'nllnwing first Beneration of Computers had?
& Vacuum Tubes gy Magnetic Drum
Integrateq Circuits
Magnetie Tape ang Transistorg
All of above
3. Ifa Computer Provides database Services to other, then it will be known as?
2. Web server
Application server
. Databage server
d. Server
4. Full form of URL ig?
3. Uniform Resource Locator
b. Uniform Resource Link
. Uniform Registereq Link
Unified Resource Link
5. ich is not 5 font styleo
a. Boid
b. Superscript
c. Italic
d. Regular
6. ich among following IS not an input device?
a. Mouse
b. Scanner
€. Keyboard
d. Printer
7. Binary number System consists of?

a. 0'sand I's only
b.  All alphanumeric characters

. Depends computer to computer
d.  None of above

8. What is fu] form of ROM?
a. other memcache
b. Read only memory
€. Read other memory
d. Read only memcache
9. What is full form of USB?
a. Unicoded Smart Bus
Universal Smart Bus
¢. Unicoded Serial Bus
Universal Serial Bus

orcipal '
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M. Whar is EXtension of Microsolfy W
A dee |
b. doe /
€. xls &
d. pt :
Whicl among following i not mﬂ'\x\lll deviee? \
A& Mouse . '
Scanner
¢ Kevboard
Printer
12, Which among following is not
A NOR
b. XOR
¢ AND
. NAT
13, A Computer myg; have?
3 Microsoft offje
ting System
et Connectivity
An antiviryg

among following is not a browser?

¢ ./"-_“'-‘: ) -‘“‘. X
ord Document? W Ll

I

b,

A logical pate?

¢ Intemn

d.
14. Which

a.

b. Chrome
€. Firefox
- Casio
IS. LAN stands for?
2. Local Area Network
- Land Area Network
C. Least Area Network
d. Leave A]] Network

16. Which of following alphabet cannot be part of a hexadecim
a A

b. L

c. F

d E
17. Random Access Memory (RAM) is non-volatile in natyre,

a. TRUE

b. FALSE
18. When a file is saved for the first time..,.

A copy is automatically printed
File name and folder name must be the same
It does need a name
It must be given a name to identify it.
............ is a collection of information saved as unit,
. Ider

a
b. File
c. Path
d. None of these
20. Microsofi office is an example of a
a. Closed source software
b.  Open source software

C. Horizontal market software
Compiler
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| Temt Fop Computer |
Answer Question Answer
* 11 ¢
e 12 d
A 3 b
N 14 d
v 5 a
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‘ Invigitator's Signature
D Tas s
90 0000 |ln 0000
00 2 0000 « 0000 0000 = 0000
90 |l= 000g “ 0000 0000 ||s 0000
00 lIx 0009 “ 0000 |l«0ggg “ 0000
08 |i= 0000 © 0000 |ls 000g “ 0000
®0 |[= 0000 “ 0000 ||« 0000 * 0000
00 |l» 0000 0000 ||« 000g “ 0000
00 (l= 0000 “0000 [l« 00gg “ 0000
008 ||» 0000 « 0000 0000 |[=» 0000
00 ||» 0000 ® 0000 " 0000 » 0000
00 |I» 0000 || 0000 ||» 0000 " 0000
O ||* 0000 ||« 0000 " 0000 ||« 0009
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Tact far @ o seience S
I'est for computer s —_ ”:;g
eSS = i ‘-‘#""c?n
e e e . " the I'ulluwlllﬂ- / - -))h\‘-”:.('l";\)b
Scleet an appropriate option for each o “on AT\
: \ | .i
I WWW stands for? \, L
a, World Whole Web \ y
b, Wide World Web L L
¢, Web World Wide | SN

orld Wide Web .
» Whiﬂix n::::mg following first gcncru‘tinn ol computers had?
a.  Vacuum Tubes and Magnetic Drum
b. Integrated Circuits .
¢, Magnetic Tape and Transistors
. All of above L
3. Ifa fmnﬁuwr provides database services to other, then it will be known as?
a. Web server
b. Application server
¢. Database server
d. FTP server
4. Full form of URL is?
a. Uniform Resource Locator
b. Uniform Resource Link
¢.  Uniform Registered Link
d. Unified Resource Link
5. Which is not a font style?
a. Bold
b. Superscript
c. Italic
d. Regular
6. Which among following is not an input device?
a. Mouse
b. Scanner
c. Keyboard
d. Printer
7. Binary number system consists of?
a. O'sand I's only
b. All alphanumeric characters
¢. Depends computer to computer
d. None of above
8. What is full form of ROM?
a. Read other memcache
b. Read only memory
¢ Read other memory
d. Read only memcache
9. What is full form of USB?
a.  Unicoded Smart Bus
b. Universal Smart Bus
¢. Unicoded Seria Bus
d.  Universal Seria] Bus

S

APpasahep, i ot
B'G !
Commerce 5 Scieri;ugﬁ"? i
‘endurni-d.')d?r:n Tar v

-~




th

16.

- Microsoft office is an example of a

. When a file is saved for the first time

What is extension of Microsoft Word Document?

a. .dee

b. .doc by

¢. .l \

d. ppt & |
- Which among following is not nn-)'apul device? \ il

4. Mouse \ ‘ /

b.  Scanner )

¢. Keyboard o

d. Printer

- Which among following is not a logical gate?

a. NOR
b. XOR
¢. AND
d. NAT

- A computer must have?

a.  Microsoft office

b.  Operating System

¢ Internet connectivity
d. An antivirus

- Which among following is not a browser?

a. Opera
b. Chrome
¢. Firefox
d. Casio

- LAN stands for?

a. Local Area Network
b. Land Area Network
c. Least Area Network
d. Leave All Network
Which of following alphabet cannot be part of a hexadecimal digit?
a A
b. L
c. F
d E

- Random Access Memory (RAM) is non-volatile in nature.

a. TRUE

b. FALSE

a. A copy is automatically printed

b. File name and folder name must be the same
c. Itdoes need a name

d. It must be given a name to identify it,

AL is a collection of information saved as unit.
a. Folder
b. File
c. Path
d. None of these

...............

a. Closed source software

b.  Open source software

¢. Horizontal market software
d. Compiler
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ANSWER KEY
| Test For ‘or computer |
Question | Am _‘Question Answer

1 | 4 BT c
2 a | 12 d
3 ¢ 13 b
4 . a 14 d
5 b 15 a
6 d 16 b
7 a 17 b
8 b 18 d
9 d 19 b |
10 b 20 ¢
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